TR 164EE

o 2 % ﬂ’ai%ilzi,% A4 Ba)l
(EER) | B2 A
— R B
X SUR(CC) | KIE(°C) | EEEUKEE | iR =Xz R
4H 55 16.9 15.7 EdS BE kEf-H me
6A|] =Y 25.2 21.1 == BE xER-% me
8A| =Y 30.9 23.1 =IE BE xEB-mh mR
108| HBh 29.7 19.3 == BE xB-mh mR
128 5 14.3 12.1 == BE BEE-h me
28| Bh 15.9 9.0 xE BE fxfl - BR
4FRRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LAF
EHE(75%1E) - 9.8 0.6(0.6) 2 1700
48] 74 9.7 0.6 1 -
6A| 7.2 9.5 0.5 1 1700
8A 7.3 8.4 <0.5 5 —
108 7.7 9.2 <0.5 2 1700
12A] 7.6 10 0.8 2 -
28 75 12 0.5 <1 —
BEIER
NP INESD & ANEvOL| #E HiKEB  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2] 0.01LLF | e | 001LLF | 0.05LLF [ 0.01LLF | 0.0005LLF
E{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2R - - - - - - -
ooant ... | 1,2->%701,1->5an[>X-1,2-2508[1,1,1-~F)50
PCB 5 mig LR ATay | TFLY NTFL nT4
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE#E] ERE 10.02LLF | 0.002LLF | 0.004LLF [ 0.02LLF | 0.04LLF 1LLF
EH - <0.002 <0.0002 <0.0004 [ <0.002 <0.004 <0.1
4K - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
68 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
8H - - - - - - -
10A - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
128 - <0.002 <0.0002 <0.0004 | <0.002 <0.004 <0.1
2R - - - - - - -
1,1,2-ky4 [FUYAAR TS 00x(1,3->9A — . —see FARAH
noxTsy | TFLY | FLY  |aFdaky FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 LA F| 0.03LLF | 0.01LLF [ 0.002LLF [0.006LL | 0.003LLF 0.02LLF
EH <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
4 HJ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68l <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
108 <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2R - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE{E] 0.01LLF [0.01LLF 10LLF 0.8LLF 1LLF
Eiy <0.001 <0.001 0.16 <0.1 <0.1
4H] <0.001 <0.001 0.13 <0.1 <0.1
6H] <0.001 <0.001 0.13 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.25 <0.1 <0.1
12H] <0.001 <0.001 0.11 <0.1 <0.1
28 - - - - -
ZTDMIER
N SR | 28 @ | 2E% | onafos | TLaTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.18 0.009 - - - -
48 - 0.18 0.003 - - - -
68 - 0.15 0.009 - - - -
8H - - - - - - -
104 - 0.26 0.019 - - - -
124 - 0.12 0.003 - - - -
24 - - - - - - -
Eie AR | VB : e = S
IT/=| kS coD el > AE BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EH{E - N 0.8 0.01 - - 64
48 - - 1.2 <0.01 - - 66
6H - - 0.7 0.02 - - 61
8H - - 0.8 - - - 56
104 - - 0.7 <0.01 - - 59
124 - - 0.9 <0.01 - - 55
28 - - 0.5 — — — 84




TR164EE

¢ 3 =
o5 2 TEE | Al Balll
(@B ) | B|E A
—iRIE R
X SURCC) [ KIE(C) | BREUKE [ FRiR =X 5
4H /M 16.8 15.4 == BE kEf-H me
6A| =Y 25.0 20.0 == B kEf-$ me
s8A| ®Bh 30.9 23.8 == BE xE-h |
10AH = 25.5 19.8 xE BE e -dh i
128 5 15.2 12.2 == BE i -th me
28| Bh 16.5 8.6 xE BE fxfh - i
4 ERIIA B
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EE(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LAF
EHE (75%1E) - 9.9 0.6(0.6) 2 =
48] 75 96 0.6 1 =
68| 74 9.5 <0.5 1 _
8A| 73 8.3 <0.5 4 _
10A] 77 9.0 <0.5 1 _
12A] 7.9 11 1.0 < —
28| 76 12 05 1 —
BEEE
NI INEDS & N NEvAL| #HME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#&E] 001LLF | FERHE | 001LLF [ 0.058LF [ 0.01LLF | 0.0005ELF e
EHE - - - - - - -
a4 - - - - - - -
6A[ - - - - - - -
sAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2R - - - - - - -
SoA0A e | 1,2-0908 [11-S500[P2-1,2-050(1,1,1-k) 50
PCB e, | mEBE |0 O 2T BTl LA
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#EE] JE#RH [002LLF | 0.002LLF [0.004LLF [ 0.02LLF | 0.04LLF 1LLF
EHE - - - - - - -
a4l - - - - - - -
6A[ - - - - - - -
sAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2B - - - - - - -
1,1,2-ky4 [FUYAAR TS 00z 1,3->9A = S mpate FARA
oATsy | IFLY | FLr  |oFaxky FOIL Skl LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#1E]0.006LF[0.03LLF | 0.01LLF [0.002ELF [0.006 L F| 0.003LLF | 0.02LLF
EHE - - - - - - -
a4 - - - - - - -
6A[ - - - - - - -
sAl - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2R - - - - - - -




Ryt | vy |TEEZERY so% | 5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—wm@ - [ - - - -
4H - - - - -
68 - - - - -
8H - - - - -
10A8 - - - - -
12A8 - - - - -
2R - - - - -
ZDHIRE
N—A~FH RILLT IV
e EER e S £HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
ERE - 0.18 0.007 - - - -
48[ - 0.19 0.004 - - - -
6B - 0.14 0.007 - - - -
8H - - - - - - -
108 - 025 0.012 - - - -
128 - 0.12 <0003 - - - -
2R - - - - - -
BiLH B | VB s Repp——
IT/=| xS cobD el > AR BREER
(mg/) | (mg/1) (mg/1) (mg/1) (mg/1) (BE) (uS/cm)
FiHiE - - 0.9 - = = =
48[ - - 1.9 - - - -
6B - - 0.9 - - - -
sAl - - 07 - - - -
10A] - - 06 - - - -
12A] - - 07 - - - -
28 - - 0.6 - - - -




TR164EE

=B | A4 BHE)I
th A
(RER) | ER A
—{%IE B
XE |[SEBECC)| KECC) | BFBUKE | F#in 18 B&
4H /M 16.4 16.8 EdS BE kEf-$ me
6A] =Y 25.2 20.4 == BE xER-% me
s8A| ®Bh 28.9 24.4 == BE xE-h |
108 Bh 26.9 20.2 == BE e |
128 5 14.8 13.0 == BE i -h me
28| Bh 15.2 8.4 xE BE fxfh - p BR
$RREIER —
oH DO BOD SS KEEHRK
(mg/1) (mg/) (mg/1) | (MPN/100ml)
EE(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LAF
EHE(75%1E) - 9.9 0.6(0.8) 2 1800
48] 76 9.6 0.8 2 -
6A| 74 9.4 05 1 230
8A| 73 8.3 <05 4 -
108 76 9.1 <05 1 3300
128] 80 11 0.8 1 -
28 75 12 0.6 2 -
BFEER
NI INEDS P R NEvAL| #HME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EAE(E] 0.01LLF | JE#RHE | 0.01LLF [ 0.05LLF [ 0.01LLF [ 0.0005ELF e
EH{E]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48[ <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
27 - - - - - - -
SoA0A e | 1,2-0908 [11-S500[P2-1,2-050(1,1,1-k)50
PCB gy, | PREER | nrgy | 'zFiy | nrFLy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#EE] ERE [0.02LLF | 0.002LLF [0.004LLF | 0.02LLF [ 0.04LLF 1LF
T5{E - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.1
4 - <0002 | <0.0002 <0.0004 | <0.002 <0.004 <0.1
68 - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.1
8Al - - - - - - -
108 - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.1
128 - <0.002 | <0.0002 <0.0004 | <0.002 <0.004 <0.1
2R - - - - - - -
1.1.2-ky4 [FUoORAFFSS00I(1,3-09A = s oyt FARUA
noTsy | TFLY | FLY  |aFaxky FOIL| VROV )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 L F[0.03LLF | 0.01LLF [ 0.002LLF [0.006 L F| 0.003LLF [ 0.02LLF
SEH{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4A[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 A| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
108]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
27 - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#{E] 001 LT [001LLF|[ 10LLF [ 08T [ 1LUTF
Fi9fE] <0.001 [ <0.001 0.17 <0.1 <0.1
48] <0.001 [ <0.001 0.17 <0.1 <0.1
6H| <0001 [ <0.001 0.14 <0.1 <0.1
8H - - - - -
10A8]| <0.001 [ <0.001 0.28 <0.1 <0.1
128 <0.001 [ <0.001 0.10 <0.1 <0.1
28 - - - - -
ZDHIEE
N SR | 28 @ | 2E® | sansus |TLETV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.21 0.008 <0.04 - - -
47 - 0.26 0.009 <0.04 - - -
68 - 0.15 0.006 <0.04 - - -
8A - - - - - - -
10A8 - 0.32 0.015 <0.04 - - -
128 - 0.10 <0.003 <0.04 - - -
28 - - - - - - -
Bieh HEERY | VB s R ——
IT/=| kS cobD g > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EH{E - - 0.7 <0.01 - - 69
47 - - 1.0 <0.01 - - 72
68 - - 0.7 <0.01 - - 59
8H - - 0.7 - - - 58
10A - - 0.6 <0.01 - - 66
128 - - 0.9 <0.01 - - 65
27 - - 0.5 - - - 93




TR164EE

FO4 | A =3
5 04 e lEA BEl
(#HER) | BR A
—RI8 B
X SUR(C) | KIE(C) | BEEUKEE | SRR =Xz R
4K /M 16.5 16.1 == B Bt -R mR
6Al =Y 24.1 20.5 == BE xER-% me
s8Al ®Bn 28.6 24.9 =B BE fxE - |me
108| HBh 25.0 21.3 == BE ZE-mh mR
128 5 14.0 13.3 =E BE xEB-mh mR
28] ®Bh 18.9 9.4 == BE et -k |
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/I) (mg/1) | (MPN/100ml)
EE(E]| 65~85] 75LLF | 20LLF | 25LLF | 1000LAF
EHE(75%1E) - 9.8 0.8(1.6) 2 -
48] 76 9.8 0.8 2 -
64 15 9.5 <0.5 1 —
8A 1.4 8.3 0.5 4 —
10A| 7.6 7.1 <0.5 1 -
12A| 85 11 1.0 i< -
28 7.8 13 1.7 4 -
RBEIER
NP INESD ) ANEvOL| #E HiKEE  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE] 001LLF | F#EH | 001LLF | 005LLF [0.01LLF | 0.0005LLF JERRH
EiH{E - - - = = - =
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 = = = = = = =
Toonox wee | 1:2-270 [11-2500(22-1,2-290(1,1,1-kJH0
PCB 52 mig L% nxsy | TFiv Tl R
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
El ER/E (00280 000280 F [0.004LLF [ 00280 F | 0.04LLF 1LF
EiH{E - - - = = = =
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 = = = = = = =
1,1,2-ky4 [FUYAA TS 00z 1,3->9A = S, o8 FARUAH
aaIsy | TFLY FLY oroRy Fo5L e P %
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E0.006LLF[0.03LLF | 001LLF [0.002LLF [0.006 L F[ 0.003LLF 0.02LLF
EiHE - - - = = = =
4K - - - - - - -
68 - - - - - - -
8H - - - - - - -
10R - - - - - - -
128 - - - - - - -
28 = = = = = = =




HEBEEREY

2 D LY TR ER So% F5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
Ml 001LLF [001LLF| 10UTF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
g EER e 2 2HEfH | y00FRLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEEl - 0.22 0.010 - - - -
48[ - 0.25 0.009 - - - -
6A| - 0.16 0.010 - - - -
8H - - - - - - -
108 - 0.32 0.017 - - - -
128 - 0.13 0.004 - - - -
2H - - - - - -
BiLH HRHMRYE | VBt s o =3 S
IT/=| xS cobD g > AR BREER
(mg/) | (mg/1) (mg/1) (mg/1) (mg/1) (BE) (uS/cm)
ERE - - 1.2 - 0.01 - -
7y: 1 - 12 - <001 -
6A| - - 0.6 - <001 - -
sA| - - 0.9 - - - -
10H - - 0.9 - 0.01 - -
12H - - 1.2 - <0.01 - -
28 - - 2.2 - - - -




